[ 2-2 2 ]
NO
NO N O NOX)
NO
NOXx
/2-2-1 A
30 NO 34 97 27 124
6,000 97 26 NO
0.010ppm 0.017ppm NO
100 96.2 97.9 69.2
N Y
NO 98%  0.06ppm ( 98%  0.04ppm
6000
2-2-1 30 NO:
97 97 27 27 (ppm) 0.010 0.061 0.017 0.074
97 97 26 26 (ppm) 0.003 0.034 0.010 0.055
97 95 25 18 (ppm) 0.018 0.170 0.035 0.114
)| 1000 97.9 96.2 69.2 () ()
2-2-2
1) ( )
2-2-1 30 0.003 0.018ppm
0.015ppm 2-2-2
0.010 0.035ppm 0.020ppm
()

2-2-1 NO;

(ppm)

OECEm.

0.025L1 E
0.020~0.025
0.015~0.020
0.010~0.015
0.005~0.010
0.005F%
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2-2-2 NO;

{(ppm)
B 00250 F

I 0.020~0.025
] 0.015~0.020
C]0.010~0.015
[ 0.005~0.010
] 0.0055%%



30 0.034 0.170ppm
0.055 0.114ppm

0.08ppm

2-2-3

2-2-4

0.08ppm
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2-2-6
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2-2-5 NO;



53 30 53
2-2-7 54 55 55 9 10
9 10 30
53
53 30 20 26 6
2-2-8 14 6
----- BH- -He —— 5@ FE MR —=—FF ——f- KA -
0.030
0.025
£ 0.020
£0015

€ 0.010

0.005

0.000

53

30

2-2-7 NO;

53

--- e ——mlmmI

Blllas

==MRAH = AKEEHFEH —HETEH

B P ey
FE
2-2-8 NO;
53 30 20 26 6 (
()
NO 98 NO
98 0.04ppm
21 30 222 2-2-5
30 100 96.2 13 100
97.9 69.2
NO,98 2-2-9 2-2-10
\ 0.04ppm
2-2-2 NO;
21 22 23 24 25 26 27 28 29 30
(%) 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
/ 1147114 | 112/7112 | 112/112 | 106/106 | 105/105 | 105/105 99/99 96/96 97/97 97/97
(%) 90.4 98.2 92.9 915 91.4 99.0 98.0 100.0 97.9 97.9
/ 1037114 | 110/112 | 104/112 | 97/106 967105 | 104/105 97/99 96/96 95/97 95/97

)
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